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QUESTION 1

How are the results of a signature analysis examined?

A. By sorting on the signature column in the table view.
B. By sorting on the hash library column in the table view.
C. By sorting on the hash sets column in the table view
D. By sorting on the category column in the table view.

Correct Answer: C

QUESTION 2
Which of the following statements is more accurate?

A. The ecycle Bin increases the chance of locating the existence of a file on a computer. The recycle Bin increases the
chance of locating the existence of a file on a computer.

B. The ecycle Bin reduces the chance of locating the existence of a file on a computer. The recycle Bin reduces the
chance of locating the existence of a file on a computer.

Correct Answer: A

QUESTION 3

Calls to the C:\ volume of the hard drive are not made by DOS when a computer is booted with a standard DOS 6.22
boot disk.

A. True
B. False

Correct Answer: A

QUESTION 4

A SCSI host adapter would most likely perform which of the following tasks?
A. Set up the connection of IDE hard drives.

B. None of the above.

C. Configure the motherboard settings to the BIOS.

D. Make SCSI hard drives and other SCSI devices accessible to the operating system.
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Correct Answer: D

QUESTION 5

If an evidence file has been added to a case and completely verified, what happens if the data area within the evidence
file is later changed?

A. EnCase detect the error if the evidence file is manually re-verified.

B. All of the above.

C. EnCase will detect the error when that area of the evidence file is accessed by the user.

D. EnCase will allow the examiner to continue to access the rest of the evidence file that has not been changed.

Correct Answer: B
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